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I Dispute 5/1anp "1 re: nvo'nw with proper intent, but done to perform nnw5 8Y® np*
a 7y invalid
i Reasoning: we infer from Y19 that in general we attach nanwn from 1 nmay to another
b 57 valid
i Reasoning: we do not infer from 519 - we do not attach nawnn from 1 nmay to another
¢ Tangential question:they have a parallel (hence, superfluous) dispute re: no’nw in order to perform 7”071 for 1y
i Justification: if we only had that dispute, 870 that 9" permits because he doesn’t infer n»an yin,
1 But: in our case, he may invalidate as he may allow for nmay% nmayn pawnn
2 And: flip the km>2 (if we only had our dispute, 8”70 that "1 would agree in 1"y case)
d 27 77's report: YR’ YIR 'naN brought arguments on behalf of each position:
i jpnr a5 (brought by oy 79): it is invalid using 1’p reasoning;:
1 If: a129p slaughtered with intent 110ty yin is valid (intent has no meaning here), but if slaughtered with in-
tent to perform 1t yin 1M is Y10
(a) Then: this 129p, which if slaughtered with intent 10w R5W is invalid, v’p that intent to perform X5>® 7"
1w will invalidate
(b) Block: perhaps 9w is more severe as it generates a N1 avn, rather...
2 If:a117p slaughtered with intent 1mpn® yin is valid (intent has no meaning here), but if slaughtered with in-
tent to perform ympn5 yin 1771 is 5100 (but not Y129 > no n2)
(a) Then: this 129p, which if slaughtered with intent 10w R5W is invalid, v’p that intent to perform X5>® 7"
vy will invalidate
(b) Block: that case applies to all Dw7p, our application only applies to noay nron, rather...
3 If anron slaughtered with intent 198 0w is valid (D’9pa "mw only has effect in re: 77n71), but if slaughtered
with intent to perform 'm%a nwY 1"t is invalid
(a) Then: this 129p, which if slaughtered with intent (9Tp W) 1NWVY XYV is invalid, vp that intent to perform
1YY 8YW 7”1t will invalidate
it 575(brought by 85’ *3): from “extra” inference that 7171 requires nnw9
1 Observation: there was no need for a poa to teach that 77171 requires 1mwY; we could have inferred that from
a combination of nvnwY and nYap
(a) Hence: it was written to isolate each N2y = nT1ay» nmayn pawnn pr
(b) Challenge (97): perhaps it was written to attach the mymay to each other!
(c) Defense: then the text could’ve remained silent and we would’ve inferred it from 1*p above (for )
e  Note: 1" and na11 disagreed on this point; 11 taking j3nv '7’s position
i But then: 11 acceded and accepted 9109 due to yp brought above
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I Analysis of X"’s opinion in mwn — extending invalidity of mw5 XYY to Dwr
a  Rnaexpanding on dispute (»w17 ™) DINON/R™M
i ®™:just as NRYN comes to expiate sin, so too does DYR = DA NMVH RHY
1w "1 nRon is significantly different — the 07 goes above the ®1p>on vVIN on the nam; Dwr goes below
(a) ®":noy, the 0T of which goes below, proves the point
(b) YW "1 noa is unique in that it has a set time
(i) ®":nron, which has no set time, proves the point
(if) ywi "1: (“here we go again?”), so 8™ tries another approach...
ii  R™: it states X0 in re: nRVN NV’NWY (v. 1) and RN in re: NPa NV MY (v. 2) and RN in re: DYR (v. 3)
1 ywip "1 the R0 in re: DWR, RN is mentioned after burning R — which itself is not an indispensible act
iii  ®™:v. 4 explicitly equates DwR to NRVN = just as NRLN is VWYY ROW Y109, sO tOO DVR is MVH RHV 7D
b  Analysis of xn»a
i Argument 1: why didn’t R (at [a I 1 b ii]) use nos nron to generate a T80 NN1 argument?
1 Answer: common denominator would exclude nwx as both nrvm nos involve n7
(a) Explanation: nkon comes for a n72 liability; the consequence of not bringing noa 127p is N2
ii ~ Argumentl (earlier): why didn’t ywin "9, instead of pointing to nkon o7 being above ®1p>on vIN,
1 point to: nRoN’s special character as its occasional entry into the wTpn (n'n2a nron)?
(a) Answer: the entire discussion revolves around “normal” mron (NP1XN MRLVN)
2 Or point to: the fact that a nron, if non-"9, becomes o1 if the 07 is brought inside
(a) Answer: X" holds the same to be true about nwx
3 Or point to: the fact that nkon (alone) expiates for m15 »a»n
(@) Answer: 91p nymw, for which there is a (79 n%p) NrYN is not a N13 2N
4 Or point to: the unique character of nkon as requiring four sprinkles of 07 (on each wall)
(a) Answer: follows YRynw "3 who holds that to be the rule for all niap
5  Or point to: the requirement to place o7 right on the corners, or to use a finger or the sharp point of the 17p
(a) Answer: he chose one of several differences available to him
iii  Arqument1 (further): " pointed to distinction of 07 being above the line
1 Why didn’t: X" argue that nwk should also be above the line
(a) 73w no one can make that argument; if N9 goes below, and it is 9793, 1"p that DwR goes below
(i) Block: N5 doesn’t expiate
(if) Counter: myn nron (which goes below) disproves that correlation
(iii) But: 9pn nRon is not a nar pPn — A%y counters
1. Common denominator: 7"p7p and the 7 is below—> nwR, which is 77p7p, should have o1 below
2. Block: could be argued that n%y and 9wn nron can be bought for any price, unlike DWR (902 'MY)
2 Rather: 8™ reads nmR (v. 6) as exclusive — only this one goes “above”
(a) Challenge: then why doesn’t he accept nmR as limiting nnwH RHw 0a to nrvN?
(b) Answer: that nmR can’t be read narrowly, as noa is also invalid and isn’t mentioned there
(i) Counter: nmRin v. 6 is also incomplete, as it omitted q1n nvy (which goes above)
(if) Defense: within the range of n’nar alone, nothing was omitted
(iii) alternatively; follows w”ar1 who maintains that 91yn n%p and nnna nrvn, while both being placed
noynY, have distinct locations there; 9n Ny put against the wall; but nnna nron must have its o7
placed on the horn itself.
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